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Problems 26.1,8,20 from MasteringPhysics.

26.1
Two resistors, with resistances of R; and Ry are connected

in parallel, and the combination is connected across a DC
line with a voltage of V.

Part A

What is the resistance of the parallel combination?

Part B

What is the total current through the parallel combination?

Part C

What is the current through the first resistor?

Part D

What is the current through the second resistor?

26.8

{méf)v

Part A

Compute the equivalent resistance of the network in the
figure. The battery has negligible internal resistance.

Part B
What is the current through the 3.00Q resistor?

Part C
What is the current through the 6.00Q) resistor?

Part D
What is the current through the 12.00Q resistor?

Part E

What is the current through the 4.00€2 resistor?

26.20

Part A
Find the emf EMF &; in the circuit of the figure.

Part B
Find the emf EMF &, in the circuit of the figure.

Part C

Find the potential difference of point b relative to point a.
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